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  4  15  

  80 

 
 

  ¯Ö¸üßõÖÖÙ£ÖµÖÖë Ûêú ×»Ö‹ ÃÖÖ´ÖÖ®µÖ ×®Ö¤ìü¿Ö : 

  GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 

  (1) ¯Ö¸üßõÖÖ£Öá ÃÖ¾ÖÔ¯ÖÏ£Ö´Ö †¯Ö®Öê ¯ÖÏ¿®Ö-¯Ö¡Ö ¯Ö¸ü ®ÖÖ´ÖÖÓÛú †×®Ö¾ÖÖµÖÔŸÖ: ×»ÖÜÖë … 

  Candidate must write first his / her Roll No. on the question paper 

compulsorily. 
  (2) ÃÖ³Öß ¯ÖÏ¿®Ö Ûú¸ü®Öê †×®Ö¾ÖÖµÖÔ Æïü …  

   All the questions are compulsory. 
  (3) ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö ÛúÖ ˆ¢Ö¸ü ¤üß ÝÖ‡Ô ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ´Öë Æüß ×»ÖÜÖë …  

   Write the answer to each question in the given answer-book only. 
  (4) ×•Ö®Ö ¯ÖÏ¿®ÖÖë ´Öë †Ö®ŸÖ×¸üÛú ÜÖÞ›ü Æïü, ˆ®Ö ÃÖ³Öß Ûêú ˆ¢Ö¸ü ‹Ûú ÃÖÖ£Ö Æüß ×»ÖÜÖë …  

  For questions having more than one part, the answers to those parts are to 

be written together in continuity. 
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1.          -    

 Write the answer to the question in answer-book by selecting the correct option :  

      (115 = 15) 

 (i)       ? 

  ()  ()  

  ()  ()  

  What type of reaction is respiration ? 

  (A) Oxidation (B) Combination 

  (C) Reduction (D) Exothermic  1 

 (ii)         ? 

  () 26 () 14 

  () 23 () 18 

  How many pairs of chromosomes are found in the human beings ? 

  (A) 26 (B) 14 

  (C) 23 (D) 18  1 

 (iii)           ? 

  ()  ()  

  ()  ()  

  Filament of electric bulb is made up of which metal ? 

  (A) Iron (B) Tungsten 

  (C) Copper (D) Gold  1 
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 (iv) ,        

  ()   ()  

  ()  ()  

  By combination of carbon with hydrogen is formed 

  (A) Ionic compound (B) Hydrocarbon 

  (C) Halogen (D) Aquaregia  1 

 (v)    pH     

  () 6 () 7 

  () 8 () 14 

  The pH value of a neutral solution is 

  (A) 6 (B) 7 

  (C) 8 (D) 14  1 

 (vi)        

  ()     ()  

  ()    ()   

  The autotrophic mode of nutrition requires 

  (A) Carbon dioxide and water (B) Chlorophyll 

  (C) Sunlight (D) All of the above  1 

 (vii)         ? 

  ()  ()  

  ()  ()  

  Which of the following is a plant hormone ? 

  (A) Insulin (B) Thyroxin 

  (C) Oestrogen (D) Cytokinin  1 
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 (viii)          ? 

  ()  () - 

  ()  ()  

  Which disease is caused by deficiency of insulin ? 

  (A) AIDS (B) Beri-Beri 

  (C) Goiter (D) Diabetes  1 

 (ix)               ? 

  ()  ()  

  ()  ()  

  Which of the following is not a part of the female reproductive system in 

human beings ?  

  (A) Ovary (B) Uterus 

  (C) Vas efferens (D) Fallopian tube  1 

 (x)      

  ()  ()  

  ()  ()  

  The anther contains 

  (A) Sepals (B) Ovules 

  (C) Pistil (D) Pollen grains  1 

 (xi)       ? 

  ()  ()  

  ()  ()  

  Who first explained biological evolution ? 

  (A) Lamarck (B) Darwin 

  (C) Aristotle (D) Weismann 1 
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 (xii)          

  ()   ()  

  ()  ()  

  The group of rays of light is called 

  (A) Light source (B) Beam 

  (C) Illuminate (D) Scattering  1 

 (xiii)             ,   

  () 25 m () 2.5 m 

  () 25 cm () 2.5 cm 

  The least distance of distinct vision for a young adult with normal vision is 

about 

  (A) 25 m (B) 2.5 m 

  (C) 25 cm (D) 2.5 cm  1 

 (xiv)        

  ()  (W) ()  (V) 

  ()  () ()  (A) 

  The unit of electric current is 

  (A) Watt (W) (B) Volt (V) 

  (C) Ohm () (D) Ampere (A)  1 

 (xv)   ,   (+)    (–)       ? 

  () 100 V () 200 V 

  () 220 V () 240 V 

  How much is potential difference between live wire (+) and neutral wire (–), 

in our country ? 

  (A) 100 V (B) 200 V 

  (C) 220 V (D) 240 V  1 
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2.        

 Fill in the blanks of the following :   (1  5 = 5) 

 (i)     _________     (/) 

  Cutting of forests causes _____ erosion. (soil/water).  1 

 (ii)      _________        (/) 

  A person with hypermetropia cannot see _____ objects clearly.  

    (nearby/distant) 1 

 (iii)           , _______     

      ( / ) 

  A spherical mirror whose reflecting surface is curved outwards, is called a 

______.    (convex mirror/centre of curvature) 1 

 (iv)      _________      

      (/) 

  _____ hormone controls cell division in plants. (Cytokinin/Auxins) 1 

 (v)   __________     (/) 

  ______ respiration occurs in mitochondria. (aerobic/anaerobic) 1 

 

          

 Answer the following questions in one line :  (1  10 = 10) 

3.   ,            ? 

 What happens, when magnesium ribbon is burnt in the presence of air ? 1 

 

4. CaOCl2       ? 

 What is the common name of the CaOCl2 compound ? 1 
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5.            

 Write the name of an alloy made from lead and tin. 1 

 

6.          ? 

 In which form does Micelle remain in solution ? 1 

 

7.            

 Write the name of largest gland of the human body. 1 

 

8.        

 The main respiratory organ of fish is   1 

 

9.               ? 

 Which part of the brain maintains posture and balance of the body ? 1 

 

10.       

 Write the name of female hormone.   1 

 

11. DNA      

 Write the full name of DNA.   1 

 

12.            ? 

 Which mirror is used as side mirror ?   1 
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          30    

 The word limit for answers to the following questions is maximum 30 words. 

      (2  7 = 14) 

13.        

 Write the difference between oxidation and reduction. 2 

 

14.        

 Write the name of two synthetic indicators.  1 + 1 = 2 

 

15.                

 Write an example of such metal which can be easily cut with a knife. 2 

 

16.        ? 

 What are the two properties of carbon ?   2 

 

17.            ? 

 What is the difference in the transport of substances in Xylem and Phloem ?   

      1 + 1 = 2 

 

18.         ?      

 What is the function of receptor in our body ? Write the name of receptor. 1 + 1 = 2 

 

19.     ? 

 What is called fertilization ?   2 
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          50    

 The word limit for answers to the following questions is maximum 50 words. 

      (3  8 = 24) 

20.     ?        

 What is trophic level ? Give an example of a food chain. 1½ + 1½ = 3  

 

21.           ? 

 Which factors does the resistance of a conductor depend ? 3 

 

22.    ?        ? 

 What is a cataract ? How can this be overcome ? 1½ + 1½ = 3  

 

23.      ?  SI    ? 

 What is the power of a lens ? What is its SI unit ? 1½ + 1½ = 3   

 

24.             ? 

 Explain double circulation in humans. Why is this necessary ? 1½ + 1½ = 3 

 

25.         

 Write the difference between displacement and double displacement reactions. 3 

 

26.         ?   

 Explain, what is the role of brain in reflex action. 3 
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27.        0.5 A   10          

        

 A current of 0.5 A is drawn by a filament of an electric bulb for 10 minutes. Find 

the amount of electric charge that flows through the circuit. 3 

 

             100    

 Options for the following questions are given. Answer word limit is maximum 

100 words.   (6  2 = 12) 

28. (i)  ()        

 (ii)         

 (i) Draw a labelled diagram of nephron. 

 (ii) Explain the process of excretion in human beings. 3 + 3 = 6  

                        /OR 

 (i)          

 (ii)         

 (i) Draw a labelled diagram of neuron. 

 (ii) Describe the functions of neuron.   3 + 3 = 6 
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29. (i)         ,      

 (ii)        

 (i) Draw a labelled diagram of, acid solution in water conducts electricity. 

 (ii) Write the similarities (common) of acid and bases. 3 + 3 = 6  

                  /OR 

 (i)          

 (ii)          

 (i) Draw a line diagram of resistors in series. 

 (ii) Explain resistors in series and parallel.  3 + 3 = 6 

__________ 
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